®.H. IR
3aoanue JIA/HET
1 6+4=38
2 IlepBoe ciaraemoe 3,
Bropoe 5. Cymma paBHa 8.
3 6>9
4 3+3=10-4
5 8§—4=6
6 9 Ooupie 5 Ha 4.
7 Ecnm 5 yBenwmuunts Ha 3, TO
pe3yibTaT OyaeT paBeH 8.
8 Vmenbmiaemoce 12,
BbIuMTaeMoe 2. PazHoctb
paBHa 10.
9 CymmMa 5 u 4 paBHa 9.
10 14-4=11

D.H. @ @
3aoanue JMA/HET
1 6+4=28
2 [IepBoe cnaraemoe 3,
Bropoe 5. Cymma paBHa 8.

3 6>9

4 3+3=10-4

5 8§—4=6

6 9 Gonpiie 5 Ha 4.

7 Ecau 5 yBenuuuts Ha 3, TO
pe3yibTar OyaeT paBeH 8.

8 YmMmenniaemoe 12,
BbluMTaemoe 2. PazHocts
pasHa 10.

9 Cymma 5 u 4 paBHa 9.

10 14-4=11

Pesyabrar:
D.U. @ @
3aoanue JA/HET
1 6+4 =8
2 IlepBoe cnaraemoe 3,
BTOpoe 5. Cymma paBHa 8.

3 6>9

4 3+3=10-4

5 8—4=6

6 9 Gompe 5 Ha 4.

7 Ecnm 5 yBenwuunts Ha 3, TO
pe3ynbraT OyaeT paseH 8.

8 Vmenbmiaemoce 12,
BbIunTaemoe 2. PazHocTh
pasHa 10.

9 Cymma 5 1 4 paBHa 9.

10 14-4=11

Pesyabrar:
D.U. @ @
3aoanue HA/HET
1 6+t4=28
2 ITepBoe crnaraemoe 3,
Bropoe 5. Cymma paBHa 8.

3 6>9

4 3+3=10-4

5 8—4=6

6 9 Oomnpine 5 Ha 4.

7 Ecnu 5 yBenmuuuts Ha 3, TO
pe3ynbTar OyaeT paBeH 8.

8 Vmenbmaemoe 12,
BBEIYUTacMoe 2. PazHocTs
pasHa 10.

9 Cymma 5 u 4 paBHa 9.

10 14-4=11

Pesyabrar:
@.H. @ @
3aoanue JA/HET
1 6+4 =18
2 IlepBoe cinaraemoe 3,
BTOpoe 5. Cymma paBHa 8.

3 6>9

4 3+3=10-4

5 8—4=6

6 9 Gonbuie 5 Ha 4.

7 Ecnm 5 yBenmunts Ha 3, TO
pe3ynbTar OyIeT paBeH 8.

8 Vmenbmaemoe 12,
BEIYHTaeMoe 2. Paznocts
paBaa 10.

9 Cymma 5 u 4 paBHa 9.

10 14-4=11

Pesyabrar:

Pesyabrar:
@.H. @ @
3aoanue JHA/HET
1 6+4=28
2 IlepBoe crnaraemoe 3,
Bropoe 5. Cymma paBHa 8.

3 6>9

4 3+3=10-4

5 8—4=6

6 9 Oonpire 5 Ha 4.

7 Ecnu 5 yBenuuuTts Ha 3, TO
pe3yabTar OyzieT paBeH 8.

8 ‘YmMmenbmaemoe 12,
BeIuKMTaeMoe 2. PazHocTthb
paBHa 10.

9 CymmMa 5 u 4 paBHa 9.

10 14-4=11

Pesyabrar:




